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	Symbol
	Meaning

	+
	separates 2 or more reactants or products

	(
	“yield”, separates reactants from products.   

	
	used in place of ( to indicate a reversible reaction

	(s)
	designates a reactant or product in the solid state.  Placed after the formula of a substance

	(l)
	indicates a liquid reactant or product

	(aq)
	indicates an aqueous solution (where some solute has been dissolved in water)

	(g)
	indicates a gaseous reactant or product

	Δ
	indicates that heat is supplied to the reaction

	H2O2
	a formula written above ( sign indicates that a  catalyst is used (see definition below)






Name__________________Date______Period______

Conservation of Mass Practice
1. Observations are shown below. Tell whether each combination is a chemical reaction or not

	Observations:
	Reaction?              (Y or N)
	How do you know?

	Mixed clear liquid with other clear liquid, blue solid was produced
	
	

	Mixed solid with water, heat and bubbles were produced
	
	

	Mixed red liquid with white liquid, pink liquid was produced
	
	


Use the following equation to answer questions 2-7.

            Δ
CH3CH2OH(aq)   +   O2(g)   ---->   CO2(g)   +   H2O(l)
2. Write the reactants of this reaction

3. Write the products of this reaction

4. Which compound is in the aqueous (dissolved in water) state?

5. Which compounds are in the gaseous state?

6. Which compound is a liquid?

7. What does the symbol above the arrow (Δ) mean?

8. What is a catalyst? Do catalysts participate in reactions?

9. Which of these would support the idea that mass is conserved in a reaction that produces a gas as a product?

A. Heating the reactants to ensure the reaction occurs in a gaseous state

B. Subtracting the mass of the gas from the mass of the solid and liquid products

C. Mixing the reactants and measuring their total mass

D. Trapping the gas and measuring its mass

2Cu + O2 →2CuO
10. When 127 g of copper reacts with 32 g of oxygen gas to form copper (II) oxide, no copper or oxygen is left over. How much copper (II) oxide is produced?

A.  32 g


B.  95 g


C.  127 g

D.  159 g

11. Copper (Cu) and sulfur (S) were heated in a covered container. After the reaction was complete, the unreacted sulfur was removed. The table contains the results of the investigation. How much sulfur, in grams, failed to react with the copper?





Reaction of Copper with Sulfur
                                                                              

A.  1.32 g


B.  1.95 g




C.  1.27 g


D.  1.59 g
Unit 7: Conservation of Mass





The Law of conservation of mass





Chemical reactions follow 2 main laws. Both laws deal with conservation. 


What does conservation mean?


_________________________________________


The law of conservation of mass states that mass is neither created nor destroyed. The form of matter may change, but the __________________________ ___________________________________________





So: 


mass (g) of reactants = mass (g) of products





# atoms before reaction = # atoms after reaction





Would this reaction verify the law of


   conservation of mass?________________ 


Why or why not?____________________________


_________________________________________





***This law only applies in a __________________. If products can escape, mass will appear to have been lost. But it was not destroyed. It simply escaped from the system.


		               


We Do:   23.0 grams of sodium react with an unknown amount of chlorine to form 58.5 grams of sodium chloride. How many grams of chlorine reacted?  





1. Write reaction:    











2. Make grams reactants = grams products   


3. Answer_______





You Do: Data is shown for a reaction between magnesium and sulfur. Calculate the mass of the unreacted sulfur in this reaction:














1. Write reaction:    











2. Make grams reactants = grams products   


3. Answer_______
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Name______________________________


Due Date:____________________





Signs of a Chemical Change


Heat and/or light is given off


A gas is produced-often seen as bubbles


A precipitate is formed-when 2 solutions are mixed, a solid sometimes forms and separates from the mixture.


An UNEXPECTED color change occurs (clear + clear = red)











Chemical Reaction Symbols




































































Catalyst: something that speeds up a reaction but DOES NOT participate in the reaction





We Do: Write a chemical equation for this reaction: Magnesium metal reacts with hydrochloric acid (HCl) to yield magnesium chloride and hydrogen gas.





*Remember: BrINClHOF elements are diatomic. (So for hydrogen gas, write H2, etc.)














You Do: In a combustion reaction, hydrogen gas is added to oxygen gas to produce water. (Look out for diatomics!)








What is a chemical reaction?                     Reactants    (   Products


A chemical reaction occurs when one or more substances (reactants) are chemically changed            


     into one or more new substances (products) 


Chemical changes involve movement of electrons as well as breaking bonds and forming new bonds
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